3—6 FEMFIRYMEDOFEFHEDRFLILN)

(— % JRSPM)

Hi . N AEBaS AR (mg/m®)
e | T | No e Wity [2A4E [ 2540 )T [ 2645 8 | 2 TAEJE [ 287
[ W 1 17 1%y Rl E f£ 10.032 ] 0.035 | 0.024 | 0.023 | 0.020
H 2| FH T8 f£ ] 0.019 ] 0.020 | 0.020 | 0.019 | 0.017
it AR = £ 10.021 ] 0.022 | 0.021 | 0.019 | 0.018
= Wit Al FKHH £ 10.017 | 0.019 | 0.018 | 0.019 | 0.016
SlAHRE £ 10.018 | 0.020 | 0.019 [ 0.019 | 0.016
= 6 [FA FARA 7§ | 0.016 | 0.015 | 0.017 | 0.014 | 0.015
AT UL f£ 10.019 | 0.024 | 0.021 | 0.021 | 0.019
S L AYRI N f£ [0.021] 0.024 | 0.021 | 0.020 | 0.018
9|71 H £ |0.018 | 0.019 | 0.019 | 0.019 | 0.016
10 ()1 (%= ¥ T | 0.020 | 0.022 | 0.025 | 0.023 | 0.016
il | MRS | {f_10.025 | 0.020 | 0.020 | 0.019 | 0.016_
12 ) 1A i £ |0.021 | 0.022 | 0.021 | 0.020 | 0.017
13 |7 AT {EER AT f£ 10.023]0.029 | 0.025 | 0.025 | 0.016
iz 14 [T 220 5 P 10.019 | 0.021 | 0.022 | 0.023 | 0.018
i 15 [HRFE RN f£ 10.019 | 0.020 | 0.018 | 0.016 | 0.014
16|AnfEE s Zdfh| 0.019 | 0.020 | 0.020 | 0.019 | 0.016
AR ] {£..1.0.020 | 0.021 | 0.021 | 0.020 | 0.018_
S 18 |fintE =R Z M| 0.022 | 0.025 | 0.024 | 0.023 | 0.020
19rfE =R A f£ ]0.015| 0.017 | 0.016 | 0.016 | 0.014
...... 20|fnf@ans | fE 10.020 | 0.023 | 0.023 | 0.022 | 0.020
i 21 [finkE A f£ 10.020 | 0.021 | 0.022 | 0.022 | 0.020
22 | WK B AT f£ 10.023 ] 0.022 | 0.025 | 0.022 | 0.021
7 il 23 |8l REEFIR & [0.028 ] 0.030 [ 0.021 | 0.021 | 0.018
AT 24\ TR E £ |0.022 | 0.022 | 0.023 | 0.023 | 0.022
25 [\ FARCKA £ 10.023 | 0.025 | 0.026 | 0.029 | 0.032
26 @%Er%lﬂ & 10.018 | 0.019 | 0.019 | 0.018 | 0.017
BB 27 E B RE E R f£ |0.026 | 0.030 | 0.024 | 0.019 | 0.018
28 [ H E A f£ ] 0.021] 0.023 | 0.023 | 0.022 | 0.018
29| FHEAE R £ |0.018 | 0.018 | 0.017 | 0.014 | 0.014
30| T-HEhz R £ |0.017 | 0.018 | 0.018 | 0.012 | 0.011
...... 31| FEE |.fE_ ]0.022]0.023 | 0.022 | 0.021 | 0.020
+ 2| THEFTA f£ |10.019 | 0.021 | 0.020 | 0.019 | 0.017
B|FEKRE f£ |0.015| 0.017 | 0.016 | 0.017 | 0.015
L BAI TG ] ...1.0.022 | 0.028 | 0.027 | 0.025 | 0.025 |
TN 35| TR WD A1 £ |0.017 | 0.020 | 0.019 | 0.019 | 0.018
36| THE%)| £ 10.019 | 0.020 | 0.019 | 0.018 | 0.017
...... 37| TS |4 ]0.019]0.019 | 0.019 | 0.019 | 0.017
38| THEmRTFR f£ 10.017 | 0.018 | 0.017 | 0.016 | 0.017
4z 39| FHEHD f£ 10.016 | 0.017 | 0.016 | 0.015 | 0.016
A0 THERME ] {...1.0.020 | 0.022 | 0.023 | 0.022 | 0.023 |
A1| THEER £ 10.021 | 0.023 | 0.023 | 0.022 | 0.020
uEhETH 42 | VAT 1 R £ 10.027 | 0.029 | 0.020 | 0.019 | 0.017
iy =Ml A3V BT T ZDfh] 0.028 | 0.032 | 0.018 | 0.018 | 0.017
A4 (T R\ % £ |0.018 | 0.019 | 0.018 | 0.016 | 0.014
45| A f£ 10.015| 0.016 | 0.016 | 0.017 | 0.015
L Aellae ] f..1.0.018 | 0.019 | 0.016 | 0.021 | 0.019 |
A7\ TR & |0.014 | 0.016 | 0.013 | 0.010 | 0.007
(il 48| H & 10.017 | 0.018 | 0.017 | 0.016 | 0.015
YR . iiERES ] {f._.1.0.016 ] 0.019 | 0.016 | 0.015 | 0.012
- 50| JEA K £ |0.016 | 0.018 | 0.017 | 0.017 | 0.015
Ji 51 | U I & 10.020 | 0.022 | 0.021 | 0.018 | 0.014
L b2lisakE ] % 1. 10.030(0.036 | 0.019 | 0.019 | 0.018 |
53| RARA f£ 10.011 | 0.015 | 0.014 | 0.015 | 0.015
54| i8R ZOfth | 0.016 | 0.018 | 0.014 | 0.015 | 0.014
55| i JfiZs o {£_10.016 | 0.018 | 0.016 | 0.016 | 0.014
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3—6 FEMFIRYMEDFEFHEDRFLIL(2)

(— & JFSPM)

- — 3
L% iy No RER fiﬁ QAFEE 255;2 ?ﬁji(}ig/;;f# 284
i R X = [ )X
56 |l = T £ 10.021 | 0.023 | 0.018 | 0.018 | 0.017
57 |l i £ 10.017 | 0.019 | 0.019 | 0.019 | 0.017
[ R T LK A N A T ] 0.015 | 0.018 | 0.017 | 0.018 | 0.017 |
T 59|l = ME & 10.018 | 0.021 | 0.019 | 0.019 | 0.017
60 | fh 7T e & |10.018 | 0.020 | 0.017 | 0.016 | 0.015
L N il =t S o I 7% |.0.015 | 0.016 | 0.016 | 0.016 | 0.014 |
62| RR H & 10.017 | 0.019 | 0.017 | 0.019 | 0.017
63 [ il i) E S & 1 0.017 ] 0.020 | 0.018 | 0.018 | 0.015
64 | A B HEH £ | 0.017 | 0.019 | 0.018 | 0.018 | 0.016
65 | A T HEmE = & 10.018 | 0.020 | 0.020 | 0.020 | 0.015
ATHET| S R S = N {£.]0.018 | 0.021 | 0.022 | 0.021 | 0.017 |
A 67| A S HEHIR £ |0.012]0.014 | 0.014 | 0.015 | 0.012
68| KR £ |0.017 | 0.018 | 0.018 | 0.013 | 0.011
69 | B H AR 7§ | 0.016 | 0.019 | 0.016 | 0.017 | 0.016
70 EHEYH £ 10.017 | 0.019 | 0.018 | 0.017 | 0.013
Pl |- TUBRAEET | {£ ] 0.015 |(0.018)| 0.014 | 0.014 | 0.013 |
Vi By IN) T. | 0.021 | 0.022 | 0.021 | 0.020 | 0.018
73| B EEH # 10.015|0.016 | 0.015 | 0.014 | 0.011
TA|E R H & 10.016 | 0.016 | 0.016 | 0.015 | 0.011
i 75| & N AR £ 10.021 | 0.024 | 0.026 | 0.024 | 0.024
76| F BUM IS & 10.020 | 0.022 | 0.023 | 0.023 | 0.021
1t Syl 77| FLORE & 10.024 | 0.024 | 0.028 | 0.018 | 0.017
IA:] R R A% |.0.013 | 0.015 | 0.017 [(0.015)| 0.014 |
e 79| BCHAR ) £ |0.029 | 0.025 | 0.018 | 0.017 | 0.015
o ait] 80|k 2% x (0.014)] 0.016
. 81|kk H KB /K 2 10.017 | 0.018 | 0.017 | 0.016 | 0.015
R % H T 82|k HMEL # |0.016 | 0.018 | 0.016 | 0.015 | 0.016
i 83 |k HN BB £ | 0.015 | 0.016 | 0.017 | 0.016 | 0.014
L] 842 1Ll H & |0.027 ] 0.029 | 0.017 | 0.017 | 0.017
o B 85|FIVE =i4E £ | 0.017 | 0.022 | 0.020 | 0.019 | 0.018
Eoa s il 86|Fk R i & £ 10.030 | 0.027 | 0.021 | 0.020 | 0.017
75 B 87|HHtLkE £ 10.021 | 0.023 | 0.021 | 0.021 | 0.018
gl 88| EEE £ 10.020 | 0.023 | 0.017 | 0.017 | 0.016
Ju | BT 89|[MLEEFE & 10.029 | 0.032 | 0.021 | 0.019 | 0.017
+ [ BEEEHT 90 M2 LR & 10.020 | 0.022 | 0.023 | 0.019 | 0.018
Juo |\ 91\ fi )\ 1 £ 10.017 | 0.018 | 0.018 | 0.017 | 0.016
H | H&eT 92| W4 I £ | 0.025| 0.024 | 0.023 | 0.018 | 0.017
B SRS 93 ﬁ}ﬁ%?ﬂﬁ & 10.016 | 0.018 | 0.015 | 0.015 | 0.014
Fop TET’I 94 jé.fzﬁﬁi & 10.019 ] 0.021 | 0.023 | 0.023 | 0.021
PEITH 95 [/ NP A 10.016 | 0.020 | 0.019 | 0.017 | 0.013
N I 1115} 96 | 11 £ )5t A 10.023 | 0.024 | 0.022 | 0.020 | 0.018
e L 97 |#Erd Fie/A M A& 10.018]0.021 | 0.021 | 0.022 | 0.020
W & PE | 0.016 | 0.024
BT R £ |0.015 | 0.015 | 0.013
et WO (2= N/ N {.]0.017]10.017 10015 | | |
I [ A |0.016 | 0.016 | 0.015
A & 10.014 | 0.016 | 0.013
BIEEN & 10.013]0.012 | 0.009
s Fo o ait] k1T £ ]0.021 | 0.024 | 0.018 [(0.022)
B H T AR T & 10.0201] 0.021 1 0.024 | 0.021
VS fiE (B 20 AE J)) 0.019 | 0.021 | 0.019 | 0.019 | 0.017
(%) 1. () PNIXAE R 2hiH) & FRE R £ 36,000 B R i
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3—6 FEMFIRYMEDFEFHEDRFLIL(3)

(H HEmSPM)

Ing iy No HER HiUEE | 244F B | 254E FE | 264 | 274F BE | 284 JiE

| BFHE 1|87 H e R () A [0.034 [ 0.030 | 0.022 | 0.021 | 0.018

W P LI ANAESE =€) £ ]0.020 | 0.021 | 0.022 | 0.020 | 0.018

bl 31‘5@{?(@ £ |0.019 | 0.020 | 0.019 | 0.020 | 0.018

= 4| REY (HE) £ ]0.025 | 0.026 | 0.023 | 0.022 | 0.020

AT ST EARHR(HD) 7§ | 0.030 | 0.034 | 0.022 | 0.024 | 0.023

6| 7)) 1 (H) 7§ | 0.020 | 0.022 | 0.021 | 0.021 | 0.018

i)l 7| ) A THE(E) £ | 0.020 | 0.022 | 0.020 | 0.020 | 0.018

05 8| () £ 1 0.030 | 0.020 | 0.021 | 0.020 | 0.018

i E2iE] 9 JHi 22 K (H) £ ]0.019 | 0.019 | 0.020 | 0.019 | 0.017

iE T 10 | v peh (H) T | 0.022 | 0.024 | 0.025 | 0.024 | 0.025

Mo U B omGEE) | #1 | 0.020 | 0.022 | 0.022 | 0.021 | 0.019

N 12\ AT B £ ]0.023|0.023 | 0.019 | 0.017 | 0.016

HEFT 13 [ BRI R ELCR) £ [0.036 | 0.034 | 0.024 | 0.022 | 0.020

14| THETHEHEGR) P4 | 0.019 | 0.020 | 0.019 | 0.020 | 0.017

T 15| FHE T HHH) £ | 0.033|0.035 | 0.033 | 0.020 | 0.017

T 16| T3 1 e (H) 7§ | 0.019 | 0.022 | 0.022 | 0.021 | 0.020

17| FHE = B AR (H) £ | 0.017 | 0.020 | 0.019 | 0.020 | 0.018

% 18| THEEM(H) 7§ | 0.020 | 0.021 | 0.020 | 0.019 | 0.017

g 19| {11 E () {£ ] 0.020 | 0.024 | 0.024 | 0.023 | 0.021

0 R 20 | i J5 () £ |0.016 | 0.018 | 0.016 | 0.016 | 0.014

B | 21 %Ha’r@?aiﬁ(ﬁ) £ |0.018 | 0.019 | 0.017 | 0.017 | 0.016

22 |l A R AR () | 2ot | 0.032 | 0.037 | 0.038 | 0.020 | 0.018

) E T 23 | B AL 7 () £ |0.017 | 0.020 | 0.018 | 0.021 | 0.017

A AR H A4S (H) | Z ot | 0.022 | 0.024 | 0.024 | 0.023 | 0.021

B H | T 25 |k FH AE IR () £ [0.020 [ 0.021 | 0.021 | 0.022 | 0.018
VEILR | B B wIEGE) | Zofh] 0.025 | 0.026 | 0.026 | 0.024

VLS fE (A ZhE ) 0.023 | 0.024 | 0.022 | 0.021 | 0.018

(fi %)

1o () P A= FRIAT 2 U R ] 257036, 00 O i ] AT
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3—7 WUMIFIRMEOEFHEOREFLEL

(—fx/"PM2.5)

Hi1 . M. ik I g/m?)
e | 1| No WER Mt [244EE [ 25 4 [ 26 4R S | 2T AR JEE | 28 AE
IFH | BFHE 1|55 HH AR S AE E 14.7| 15.6| 15.6| 14.2| 12.4
i Vil AR S fE (15.7)| 13.4 ([ 121
W 3k EEA £ 12.7| 14.1| 139 12.4| 11.1
= 4R K= fE 14.2 | 13.2| 12.7
WA 5 /A JTARAS P 12.1| 14.2| 14.9| 13.5| 12.2
Hl 6|1 KB * 12.7| 15.6| 14.7| 13.4| 12.1
7\ A\ i F 14.2| 17.1| 14.2| 11.3| 10.8
" T 8 [Tl 2 5 il 13.8 | 14.2| 12.5| 10.9
Sk 9 M@@V\i £ | (14.3)| 14.3| 14.4| 13.1| 11.7
% 10| intE SR = fE 12.6 | 13.3| 13.2| 11.9| 11.2
Bt 11|l HR & | (15.5)| 13.7| 14.2| 14.6| 13.3
AN 12\ TS fE (13.6)] 12.3| 11.6
EEFE|] 13 EHER * 13.4| 14.5| 14.4| 12.9| 11.9
14| LRI £ | 17.0)| 14.6| 14.9| 13.2| 12.4
15| THE= B AR £ | (16.6)| 15.2| 14.2| 11.8| 11.3
______ 16| THETHE | (E [ 147 158 151 | 13.0| 12.6
T | TS 17| T%E%)1| £ 12.9| 13.5| 12.9| 11.5| 10.2
18| T-¥Ekr Tk * 14.4| 155| 14.8| 12.6| 11.0
% 19| THERHE £ | (13.4)| 12.0| 12.0| 10.6 9.6
20| THEEHD E 12.8| 12.5| 12.4| 11.2| 10.2
DUFERE T [ 21 | DUfkr s * (20.5)] 14.0| 12.7| 115
ey =aitl 2\EALESH (o] 13.2| 14.2 | 14.0]| 12.7 | (12.0)
23| JE i * 15.1| 16.2| 145| 13.9| 12.7
24| H A * 15.2 | 14.6| 13.2| 12.5
i 25| i (S N PR 12.5..12.0.| . 10.6.
hili 26| i H AL P 13.6 | 14.8| 14.8| 14.4| 10.7
B 27| i FS 10.2 9.8 8.6
N N 28| Miaie ] ] 13.7.1..12.6.
29| i JFHRAS fE 18.2| 18.4| 17.1| 175 15.5
A T 30 | fh i IR £ 12.1] 12.2
= ARG | 31| AR AR fE (16.7)] 13.2| 12.0| 11.0
i FEET 32| F N xK (12.2)| 11.4| 10.3 9.0
B 33| E AR £ 17.1| 17.5] 15.3| 10.1 8.5
s | FI 34| F PR £ 18.3| 18.2 | 13.4 7.3 5.7
AH | pETT 35 |k N B E 12.2| 13.4| 12.9| 11.4| 10.6
FE FIpg i 36| F e =iAE fE 18.4| 13.1| 11.6 8.8 6.8
B 37| BB AHALE £ (16.7)| 14.3| 12.8| 12.3
1 [ B i 38| [ B % (16.4) 126 [ 11.7] 10.6
o BEEOLRT|  39IREOLANE A | (15.4)] 12.7] 11.9] 116 10.4
m | HE A0 40 1 1 (9.0)| 8.8 9.1
A | RET A1 |/ v il * (10.6)| 10.3 9.9
R | T A2 | iR/ N K 14.3| 14.0| 12.6| 10.0 7.8
mme | gl 43| L& K | (12.2] 9.6 9.2| 10.7| 10.4
VSR (3 20 E Js) 144 14.6| 13.6| 12.1| 11.0
(F HEJRPM2.5)
e = i SR g/m?)
m | T No WIER M [ 2447 B [ 25 4 P [ 26 4R S | 2T 4F S [ 2801
BrE | BpE 1|05 i () K 15.2
W T PALENE YRR D) fE (14.7)| 12.8 | 11.9
| WA 3T EAHR(H) il 16.9 | 16.9
" FHJIIFH 4| i AT ) f£ | 153 [17.1 | 17.0 | 15.2 | 13.9
i e A T SMEH o) | T | 15.9 | 16.2 | 15.0 | 14.0 | 12.0
?ﬁf%ﬁ’»ﬁ 6 ﬂéf%i)@(ﬁ) f£ | (13.1)| 14.7 | 145 | 13.0 | 11.5
T T2 7| FHETEARR) fE 13.2 | 14.0 | 13.6 | 12.6 | 10.9
3 8| T-HE B (HT) pg | 15.8 | 15.1 | 14.6 | 12.1 | 11.7
B | Bk 9| ik H B (HE) £ | @7.1)| 13.3 [ 13.6 | 13.5 | 12.5
ESEE (B 20 E ) 15.1 | 15.1 | 14.7 [ 13.8 [ 12.9
(fH4) 1. () NIXARA ZhHIE B $053250 B AR
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3—8 FARURIEKFRDEFHEDREELI

(— % NMHC)

Hh . . Fig L E(ppmC)

Ik i No MR MR | 244E B [ 254 5 | 264F | 2 TAE S [ 284 i
TP | BFE A Edsa i dss| x 0.17 | 0.16 |(0.11)] 0.12 | 0.17

s Pl 2RI RS fE 0.17 | 0.14 | 0.15 | 0.15 | 0.14

ishit] (LS 5= £ | 0.17 | (0.15)] 0.13 | 0.12 | 0.12

" W AR FARAS P 0.17 | 0.15 | 0.15 | 0.14 | 0.14

S| E HE E 0.22 | 0.22 | 0.21 | 0.23 | 0.21
il 6| IATHESR AT fE 0.10 | 0.12 | 0.13 | 0.13 | 0.18
W b ES il 0.14 | 0.15 | 0.18 | 0.15 | 0.13
% 8 HRFEENN fE 0.16 | 0.16 | 0.15 | 0.15 | 0.16
e ofntE s Z0fh| 0.10 | 0.09 | 0.09 | 0.09 | 0.08
i O T = £ /018 | 0.18 | 0.19 | 0.17 |(0.17)
11| feE A AL fE 0.13 | 0.12 | 0.12 | 0.12 | 0.13
HEHRH 12[HEHEA xR 0.14 | 0.15 | 0.15 | 0.13 | 0.12
13| FZEAE R £ 0.11 | 0.11 | 0.11 | 0.11 | 0.10
14| TR R £ 0.12 | 0.11 | 0.11 | 0.11 | 0.11
S R 5| THE=EHA ] f£ 1013 | 0.12 | 0.13 | 0.13 | 0.13
T 16| TIEKRE £ 0.08 | 0.08 | 0.09 | 0.08 | 0.08
17| TERB DA 5 Es 0.14 | 0.16 | 0.11 | 0.11 | 0.11
R N L 1L A £ /011 | 0.10 | 0.10 | 0.11 | 0.16
w 19| THEHT ¥ | 0.13 | 0.10 | 0.10 | 0.10 | 0.12
20| T3 KA fE 0.12 | 0.11 | 0.11 | 0.11 | 0.09
R 21 AR | Zpfh| 0.10 | 0.09 | 0.10 | 0.09 | 0.09
22 | E gy F 0.13 | 0.12 | 0.15 | 0.17 | 0.13
" TR 23| A I v #T | 0.19 | 0.19 | 0.20 | 0.18 | 0.16
24| FARA fE 0.12 | 0.11 | 0.14 | 0.11 | 0.11
25 |l i £ 0.13 | 0.12 | 0.11 | 0.12 | 0.11
B | wt 26| il {1 A | 0.14 | 0.16 | 0.15 | 0.14 | 0.13
R 27| B | 4 |.0.08 | 0.10 | 0.10 | 0.10 | 0.09 |
28|l I O *x 0.26 | 0.07 | 0.07 | 0.07 | 0.07
B 7@&% 29 R FE HEH * 0.14 | 0.12 | 0.11 | 0.10 | 0.09
BT 30| B TS i 0.11 | 0.11 | 0.24 | 0.10 | 0.10
i | FEGH 31 F BRI i 0.12 | 0.10 | 0.09 | 0.09 | 0.09
% o 32| HKIE K & 0.07 | 0.06 | 0.09 | 0.10 | 0.09
" F% H T 33|k Mg PN 0.07 | 0.05 | 0.06 | 0.09 | 0.09
34| R AN ELER E 0.13 | 0.12 | 0.11 | 0.10 | 0.10
E Eﬂ‘ﬁﬁ 35 Eﬂﬁ%ﬁ? f£ 0.15 | 0.11 | 0.10 | 0.12 | 0.12
SeHT B|REBE E 0.09 | 0.08 | 0.10 | 0.09 | 0.09
Jut i BT 37| VRS A& 10.09 | 0.10 | 0.09 | 0.09 | 0.08
N 38\ i\ {E 0.15 | 0.12 | 0.08 | 0.11 | 0.10
RA-HE| BRI 39/ N & 0.04 |(0.12)] 0.10 | 0.09 | 0.06
mEe | SEEET 40| R VA *x 0.13 | 0.12 | 0.122 | 0.12 | 0.09
VP2 fiE O 2 E JR) 013 [ 012 1 042 | 0.12 | 0.11

T ( H BEBNMHC)

e - . i S (ppmC)

s H] No R it [2a%E [ 05 4E i [ 26 4E i [T 4 DR 4E
PP | BPH ME TSR GED) =x 0.13 | 0.27 | 0.15 | 0.14 | 0.12
i8] eIl 2 [ AR (H) £ 024 | 0.26 | 0.19 | 0.15 | 0.13

= )i 3 ﬁJllﬁﬁJll(E) ‘Péﬁ 0.21 | 0.19 | 0.18 | 0.16 | 0.13

ke A\ (H) ‘{4@1 0.18 | 0.23 | 0.17 | 0.16 | 0.16

& _ 58 H o () #T | 0.15 [ 0.14 | 0.14 | 0.13 | 0.12

BB 6| A PRk i (HT) i 0.12 | 0.12 | 0.13 | 0.12 |(0.09)

URE SE 3G ] 0.15 | 0.14 | 0.14 | 0.15 | 0.17

T 8| THETE A (FE) fE 0.08 | 0.14 | 0.14 | 0.14 | 0.13
A | o|F#Erhde(dn) | pH | 0.47 | 0.15 | 0.14 | 0.15 | 0.15

1 10| FHE = B A(H) fE 0.17 | 0.20 | 0.19 | 0.14 | 0.14
11| T E () g 0.11 | 0.10 | 0.120 | 0.10 | 0.11

i i 12| iR (D) fE 0.12 | 0.10 | 0.12 | 0.12 | 0.12
Ji %Ha/fiﬁﬁj 13 | {li R tE o (FD) fE 0.13 | 0.13 | 0.12 | 0.12 | 0.14
[ ?i’Jf e R) 0.15 1016 | 0.15 | 0.14 | 0.14

i)

(OO

VAR A R0 R AT 5036, 00 0 ey ] A
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3—9 FEAURILIKFKRG~IREIHHEEHENDEFHENRELIL

(&

JA16-9BENMHC)

Ht . N i 6~ 9RFZFIT B ) E(ppmC)
I T | No BER sl [ 2445 (25 4R [26 4R [2T4EE 284
2 IF T 1197 H 5 H E 0.18 | 0.17 |(0.11)] 0.13 | 0.17
. ] 2| b EF S £ | 0.18 | 0.15 | 0.17 [ 0.17 | 0.15
ithitl 3| kA A £ | 0.19 [(0.17)] 0.14 [ 0.12 | 0.12
# A AR FARA p§ | 0.19 | 0.16 | 0.17 | 0.15 | 0.14
ST hA fE 0.22 [ 0.23 | 0.23 | 0.25 | 0.22
i)l 6| )1 AT B AT £ | 0.11 | 0.14 | 0.14 [ 0.14 | 0.18
&M iEERES 75 | 0.15 [ 0.16 | 0.20 | 0.16 | 0.14
# 8| AFEFRIN £ | 0.18 | 0.17 | 0.17 | 0.17 | 0.16
T |G S Zofth| 0.11 | 0.10 | 0.10 | 0.10 | 0.09
T optEmiRe | {1020 |0.21 |0.21 |0.19 |(0.19)
11| ARE AL £ | 0.13 [ 0.13 | 0.13 | 0.13 | 0.13
BE T 12|85 EHER A | 0.16 | 0.127 | 0.17 [ 0.16 | 0.13
13| FZEE R fE 0.12 | 0.13 | 0.13 | 0.12 | 0.11
14| TR R £ | 0.13 | 0.13 | 0.13 | 0.13 | 0.12
R 15| FHEHA | f£ ] 015 |0.14 |0.14 |0.14 | 0.14
T 16| THKRE £ | 0.09 | 0.09 | 0.10 | 0.09 | 0.09
17| FER P AL fE 0.15 | 0.18 | 0.13 | 0.12 | 0.12
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